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T 3597
HEITRIT 3911 @1 Siga Gragr1 & 9ieq 3R F7eh] 9IerT HITg :

(1)
(i1)
(iii)

59 Y97-97 4 30 ¥97 & | @4 397 A4 & |

J57-97 qiel @S] 7 fayifaa 8 - @ue &, @&, T, 90a & |

GUE & - 7 &4 1 8 12 T%F Fglahedid JHR & Yo7 & | 3% o7 1 37% &1
g/

(iv) TUE G- Yo7 G&I7 13 G 18 7% Tg-IRIT FHR & Jo7 & | Jei%h Fo7 2 37b] %7
8 | I F97 T I 50 & 60 Yisg] 7 1oARgT |

(v) TUE M- J97 G&IT 19 G 23 % 5-3707 FHRI 3 J97 & | F9% o7 4 371 HT
8 | % T 7 IT 100 T 120 ¥551 F [T |

(vi) EUE T o7 G&IT 24 & 26 AR, HIg7 TIT HAAT-STIRT 597 & | T3 T97
HT IT TAFAR [T |

(vii) IS F— F97 G&IT 27 & 30 7% F5-370F FHRI & F97 & | F9% J97 6 371 HT
8 | Feieh Jo7 7 I 170 T 180 V51 § [A&T |

(viii) ¥o7-97 7 HI3 THT [aoheT 77 & | TeT FT Fo71 H AR faheq & JITagr a1
T 8 | 37 ¥y § @ FaeT Uk 1 Y97 BT IR 7@ 5w |

(ix) 3F% STaR®, &I 3 1% gheaned wieneal & 17q %iel aor a1 3l ST
Y] & T W U 7 J97 1397 77 & | 57 T & I A grecanea gienst &
ford |

TUE %
397§ 1 8 12 7% Fglashediq JHR & 1 3% & J97 8 | 12x1=12
1. Tfiied aerel F HITHATTIR Sareed HIfT

()  STHMEAE T Hf=d T 1 ShH
(i) & I Hifd

(it))  TITREAM H Tagg I 3

(iv) S sl ar &1 i

g T %ﬁm :

(A) @), (1), (1), (iv)

B) (i), (1), (Av), (i)

(C)  (id), Av), @), (ii)

(D) (iv), (i), (ii), (1)
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General Instructions :
Read the following instructions very carefully and follow them :

(1)
(i1)
(iii)
(iv)
(v)

(vi)

(vit)

(viii)

(ix)

This question paper contains 30 questions. All questions are compulsory.
Question paper is divided into five sections — Sections A, B, C, D and E.
Section A — questions number 1 to 12 are Multiple Choice type questions. Each
question carries 1 mark.

Section B — questions number 13 to 18 are Short Answer type
questions. Each question carries 2 marks. Write answer to each question in
50 to 60 words.

Section C - questions number 19 to 23 are Long Answer type-I
questions. Each question carries 4 marks. Write answer to each question in
100 to 120 words.

Section D - questions number 24 to 26 are Passage, Cartoon and Map-based
questions. Answer each question accordingly.

Section E - questions number 27 to 30 are Long Answer type-II questions.
Each question carries 6 marks. Write answer to each question in 170 to 180
words.

There is no overall choice in the question paper. However, an internal choice
has been provided in few questions. Only one of the choices in such questions
has to be attempted.

In addition to this, note that a separate question has been provided for Visually
Impaired candidates in lieu of questions having visual inputs, map etc. Such
questions are to be attempted by Visually Impaired candidates only.

SECTION A

Questions number 1 to 12 are Multiple Choice type questions, carrying 1 mark

each.

1.

12x1=12

Arrange the following events in the chronological order :
) Soviet invasion of Afghanistan

(i1))  Russian Revolution

(iii) End of Civil War in Tajikistan

(iv)  Fall of the Berlin Wall

Choose the correct option :

A) (@), (1), (iid), (iv)

(B) (1), (1), (iv), (iii)

(C)  (id), (v), (1), (id)

(D) Gv), (i), (i1), G)

12-59/2/1 3 P.T.O.
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2. ®H % HH-H g TS H GHb FAEATE! IR gL A 2
(A) == SN SIS
(B)  ShITRRN 3T Isefehtd™
(C) == IR R
(D) SRR 3R shITRRT

3. ‘uft aqge o oo @ fFrfefga o @ feraeht e gt R 2
(A) Ty yehr % gform e
(B) &R =+t ute 3R fasfia o i ufshan i fafia @ i
(C) ¥ B A & & foTu 1ot siamsdt § Tgdi s 6t
(D) 3T <1 o WY A Gga S i

4, d AN F FHEAM & S U AR BIS & A A & Afehd TSI ST 5
HI &1 @d 7 ?

(A)  wmg
(B)  IATYETEH
(C) 3Tt &9 & feeenfuq sH
(D) ¥ HarE
5. = I H g I 9 faam Aife 3Tk 98t foehed &1 =91 HiT
gl gl
1. R Rk (i)  fomErrs R 6 g=h
2. fooeht stfufem 2003, (i) uritfeufaes o & ufq stiefca & @y
ad e gl
3. Tl 21 (iii)  IETIE Tl o IS hl HH B HI
EEE2]
4.  Hdd Qi faeE (iv) iRl S & =T Sl S Tl ¢l
ey .

(A)  1-Gii), 2-(iv), 3-(1), 4-(ii)
(B)  1-Gi), 2-(iii), 3-(iv), 4-()
(C)  1-(v), 2-(), 3-(iii), 4-(ii)
D)  1-(), 2-(ii), 3-(ii), 4-(iv)

12-59/2/1 4



@ collegebatch con

2. Which two republics of Russia have had violent secessionist
movements ?

(A) Chechnya and Azerbaijan
(B)  Croatia and Uzbekistan
(C) Chechnya and Dagestan
(D) Dagestan and Croatia

3. ‘Balance of power’ requires countries to
(A) give up certain kinds of weapons
(B) regulate acquisition and development of weapons
(C)  coordinate their actions to defend against military attack

(D) maintain a favourable balance with other countries

4, People who flee their homes but remain within national borders are
called

(A) fugitives
(B) migrants

(C) internally displaced people
(D) indigenous people

5. Match List I with List IT and choose the correct option :

List List I1

1. Kyoto Protocol 1) List of developmental practices

2. Electricity Act of 2003, (ii) Economic growth with ecological
India responsibility

3. Agenda 21 (iii) Aims to cut greenhouse gas emissions

4, Sustainable (iv) Encourages use of renewable energy
Development

Options :

(A 1-(id), 2-(v), 3-(1), 4-(ii)
(B)  1-(ii), 2-(iii), 3-(iv), 4-(1)
(C)  1-Giv), 2-(), 3-(iii), 4-(ii)
(D)  1-(1), 2-(i), 3-(iii), 4-(iv)
12-59/2/1 5 P.T.O.



@ collegebatch con

Yo G 6 F [o1Y, &1 FT 1R T & — [57H T H ST (A) 7T TR H
FRU (R) GRT 371 191 77 8 | 37 F991 & &7 & U0 3K 717 3¢ 70 ey
(A), (B), (C) 31T (D) ¥ & 3 & &7 4 &7 lashey gy /

6.

BT (A) : Afeaeh THITG § qa TS o T8 Heequl SHE 91 g7 3 |

HRU(R): o % HIY IS IR Grae1 & Toriferh derd der & # |

(A) A (A) IR HROT (R) gHT T& & 3 SR (R), AHAT (A) Hi
T IS AT 2 |

(B)  AfYeheH (A) 3R RN (R) HI T&l &, g R (R), AMYHH (A) HI
HE AT TgT Ll @ |

(C)  fWhed (A) W&l &, T RO (R) 7T & |

(D)  JAHAA (A) TAd &, T HRUT (R) ¥l 8 |

1952 | - Torfaeh I1El SH 3R e | Ia1 § 3178 off ?
(A) IR TS g

(B)  heHR TS HidH

(C) HYE Uil 31w 3

(D) RMA HIHE

WA <1 fAat=q st fopg oy wfad fepam =i o 2
(A) 1949 (B) 1950
(C) 1951 (D) 1952

Telts @ 3 frfefga # @ form 2w & Tfifaes wor sme < oft 2
(A) U
(B) Y<H
(C) WId
(D) HIMHX

12-59/2/1 6
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For Question number 6, two statements are given — one labelled as Assertion (A)
and the other labelled as Reason (R). Read these statements carefully and choose the
correct option as the answer from the options (A), (B), (C) and (D) given below.

6. Assertion (A) : Oil continues to be the most important resource in global
strategy.
Reason (R): The immense wealth associated with oil generates

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).
(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of the Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.
7. Which political party came to power in Jammu and Kashmir in 1952 ?
(A) Indian National Congress
(B) Kashmir National Congress
(C) Communist Party of India
(D) National Conference
8. In which year was the Election Commission of India set up ?
(A) 1949 (B) 1950
(C) 1951 (D) 1952
9. In which of the following countries did Dalai Lama obtain political
asylum ?
(A) Nepal
(B) Bhutan
(C) India
(D) Myanmar
12-59/2/1 7 P.T.O.
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Yo7 q&1 10 & 078, 3 97 18T T § — 7w Bl EIT (A) aqT R H
HRU (R) ZRT 37Hd 16347 77 3 | 37 91 & &7 @ 9 37k =9 7€ 77 fabeyqt
(A), (B), (C) 31T (D) ¥ & 3 & &7 & & lashey gy |

10.  37¥Hy7 (A): 1979 H, 3TA 31EH TI<d A (AASU) I a8l arm &

faeg SfT_Ia 1 Aqca foar |

FRU(R):  SATCIeH AY YT T Terd Hagra i < foeg ot |

(A)

(B)

(&)
(D)

HAfUHA (A) 3R FRU (R) A1 F&1 & HX HROT (R), AWHA (A) hl
& AT HdT 2 |

AMHAA (A) IR HRU (R) THI Tal &, T PR (R), AfTHT (A) i
TE AT TgT Hl 2 |

MR (A) TET 8, T RV (R) T 7 |

31fhe (A) Teld B, 9% SR (R) TE 2 |

11.  TERUE gl (NAM) 1 Yo R aed el st foham T o 2

(A)
(B)
(&)
(D)

Ealiiy
ENPS
W

SUSHTRE

12. ‘@ i’ (warfeat) wra & form too O foo 2 2

(A)
(B)
(&)
(D)

12-59/2/1

T

AT
firstren

g



@ collegebatch con

For Question number 10, two statements are given — one labelled as Assertion (A)
and the other labelled as Reason (R). Read these statements carefully and choose the
correct option as the answer from the options (A), (B), (C) and (D) given below.

10. Assertion (A): In 1979, the All Assam Students’ Union (AASU) led an
anti-foreigner movement.

Reason (R): The movement was against illegal migrations and against

faulty voters’ lists.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not

the correct explanation of the Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.

(D)  Assertion (A) is false, but Reason (R) is true.

11. The first summit of NAM was held in :
(A)  Cairo
(B) Belgrade
(C) India
(D) Indonesia

12. In which state of India are the ‘Khasi Hills’ located ?
(A) Meghalaya
(B) Manipur
(C) Mizoram

(D) Tripura

12-59/2/1 9 P.T.O.
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GUE @
13. o wifehea™ # 1970 % 1@l H, fohm THifae 91l o fohd a1 & Aqca § i
Hiet W foasm w6 oft 2 2
14. 3fyge granm =1 79 wse Hifvw | 2
15. YW UEETd A5 hl hig ol faRyard IR HIT | 2

16. 1952 H 9RA H B3 (W A1 Fa R foval H SAeha= o 3(aa™ o g Wi i
Teh ek & 1 ? T8 hINTY | 2

17. STqUST AHCET R TEATST ! Al UgH i § fhH TR wRd 9 o704

TreT fadi <t e i 7 2 T fife | 2
18. g T T3 TThHN o Tohral al ATHI 1 ITThaid hIMTT | 2
@ T
19. 1971 H SNCC g hl AR o TH arett gRiEfa™t 1 quH il | 4
20. Hifo¥d 99 o fI9eT & HIs & SR T HINT | 4
21. (%) UIREM o WY YR & TRl ol SgR a9 o ¢ g q U
ST | 4
A>T
(@) 9 3R <F & o9 grary gurd o ol 18 g1 3u gmse | 4
22. (%) Ay & foru Sater gl g o @1 3SR i | 4
AT
(@) JAYdIeRTl & his Gl HehRIcHS T IATR I | 4

23. “aEfig STeRTeeTt ¥ U BT TEH ITTBT dliehl SHA o Sl Alhdli=ieh &1 9
AT BT 7 |7 IETE b hA h gfee Hifu | 4

12-59/2/1 10
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SECTION B

Which political party won all the seats in the 1970 elections in East

Pakistan and under whose leadership ? 2
Explain the meaning of Global Security. 2
Highlight any two features of the First Five Year Plan. 2

Why did India’s general elections of 1952 become a landmark in the
history of democracy all over the world ? Explain. 2

How has the strengthening of international norms and international

institutions helped India protect its security interests ? Explain. 2

Assess any two advantages of coalition governments at the Centre. 2
SECTION C

Describe the circumstances that led to the Bangladesh War in 1971. 4

Explain any two reasons for the disintegration of the Soviet Union. 4

(a)  Suggest any two measures to improve India’s relations with

Pakistan. 4
OR
(b)  Suggest any two measures to improve Indo-China relations. 4
(a)  Highlight any two causes of globalisation. 4
OR
(b) Highlight any two positive effects of globalisation. 4

“The best way to respond to regional aspirations is through democratic
negotiations rather than through suppression.” Justify the statement

with examples. 4

12-59/2/1 11 P.T.O.
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ECLERS]
24, frfafaa saaw =1 samgdes ufer o A= for T wwi & 3@ §fe 4x1=4

a1 foar g f6 fiqgsa M & Iasy & &9 &6 & ge e
faenféa =il <l @, TNwalH Uk vl @0y o §8d SATGT Icesid (a1 & | |
= feamn fo fomresfia gun # ey 6t 6t ufa safe Icasy & fowfea
T 6t g § AT R |

(i)  9RA A FAE TIehid T FEATER AT SHRT TTHIGT hel fehaT o ?
(A) 3TET 2000 (B) 3TET 2001
(C) 3TET 2002 (D) 3ATET 2003

(i) oo faepesha oul # R didenia S et 8 ge =& & 18 off 2
(A) I urifeafasht 7 o Tgea Senfihl foefea e & smoft o |

(B) I B 3 < I Wes NRIfRA I T o Tl X |
9 |

(C) 38 gl § & TRl ST I JATT H o BRIHA IE B
fau o |

(D) T9EISE |} o Icds | ITehT ANTEH ATHATS BT T |

(i) ‘Yol GHEH HEl FARNT g o1 ?

A) Ui (B) fon & safen
(C) e (D) wifga

(Gv) TfaRaa § 9 swa-a1 v Sfvas graer’ &1 3T g 2
(A) T2 SR % (B) werEg (U &)
(C) el FaRa (D) HEWI HeEAd

12-59/2/1 12
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SECTION D

24. Read the following passage carefully and answer the questions that
follow : 4x1=4

India is of the view that the major responsibility of curbing emission of

greenhouse gases rests with the developed countries, which have

accumulated emissions over a long period of time. India pointed out that

the per capita emission rates of the developing countries are a tiny

fraction of those in the developed world.

(1)

(ii)

(iii)

(iv)

12-59/2/1

India signed and ratified the Kyoto Protocol in :
(A)  August 2000 (B) August 2001
(C)  August 2002 (D) August 2003

Why were some developing countries exempted from the

requirements of the Kyoto Protocol ?
(A) They were pioneers in developing eco-friendly technology.

(B) They were assisting some other countries to adopt clean

technologies.
(C)  They had already launched renewable energy programmes.

(D) Their contribution to emission of greenhouse gases was

insignificant.

Where was the ‘Earth Summit’ held ?
(A) Paris (B) Rio de Janeiro
(C) Kyoto (D) Montreal

Which one of the following is an example of ‘Global Commons’ ?
(A) The Great Barrier Reef (B) The Grand Canyon
(C)  The Outer Space (D) The Sahara Desert

13 P.T.O.
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25. WRA % {¢U T THIfdh W@I-AHRE (58 15 |) § 91 T3 o6l @), B, ©
A (D) g 3ifeRd fohan T 2 | 9 € TS SRR W SMUR W 37 TSAT !
TgEH I 3R T ITR-GIEdhl H 9h Tal 91, TANT i T8 SAHRRT hl
HH-GEAT qAT gHrad § foar mon gefuq o1em, = & 7S e & ®9 9§
faRam 4x1=4

T T TS SERR | " § fea

. I TSI 1 9
$T HH-GET TR 1 3TN

(1)

(i1)

(iii)

(iv)

() 98 T &8 Q& TSI A 981Gt RS 1 e o |
(i) 98 T eg @ g @, HSforTen 1 avy o |
(i) 98 TSA &l 1967 T e (gfae Toa M) Il aan § 318 |

(iv) o8 UST Sl 1967  faarewt &l | e a1l =l sgad &1 fiefl
ot |

12-59/2/1 14
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I G. 25 o fQ

km Scale 1:15000,000 km
100500 100 200 300 400 500
o —"  —
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25. In the given political outline map of India (on page 17), four States
have been marked as @, @), © and . Identify these States on the
basis of the information given below and write their correct names in
your answer-book along with the respective serial number of the
information used and the concerned alphabets given in the map as per

the following format : 4x1=4

Serial number of the | Concerned alphabet Name of the
information used given in the map State

1)

(ii)

(iii)

(iv)

(1) The State to which the former Prime Minister Lal Bahadur Shastri
belonged.

(ii) The State to which former Chief Minister S. Nijalingappa
belonged.

(iii) The State where DMK (Dravida Munnetra Kazhagam) came to
power in 1967.

(iv) The State where the Congress Party did not get majority in 1967

Assembly elections.

12-59/2/1 16
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For question no. 25

e Outline Map of India (Political)

km Scale 1:15000,000 km
100500 100 200 300 400 500
o —"  —
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Fig:  [AEkiiad yeT Faq givarfaa wdenfal & fog ye7 G 25 # T
WE 4x1=4
(25.1) 38 TsF 1 W faRaw & 99 geamst w98 ot 1 averg o |
(25.2) 38 TS 1 AW fafaw fed eHifas ol Sows (gforg g swm)

T G B |

(25.3) 3@ TS &1 W fafgw e qd yamws e s-ig el geey
w@d 9 |

(25.4) 39 T 1 99 Toafgy 8 wra o g9 Tsgard o, fift &1 gy
o |

26. = fou TU A 1 IremEE I SR ffafed T 6 SW AN 0 1+1+2=4

7z 5o 8! &7 @3 aerar &
f& &7 797 o @ ay a&
B&aid & Ji7 38 PRTET ]~

()  SHar Uil bl TR 1 TRE 91 3a1 sl gg=est 3Eehl 9 faRau |

(i) WA ¥ fe@m MU AT 9Tl i AR W JIHEEA Sl UgEH B IHHI
am fafew |

(iii) 1980 H S=aT YT <hl BN o his & AU IATR <HIfST |

12-59/2/1 18
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Note: The following questions are for the Visually Impaired Candidates

only, in lieu of Q. No. 25 : 4x1=4
(25.1) Name the state to which the former Chief Minister Karpoori
Thakur belonged.

(25.2) Name the state to which the political party DMK (Dravida
Munnetra Kazhagam) belongs.

(25.3) Name the state to which the former Prime Minister Lal Bahadur
Shastri belonged.

(25.4) Name the state to which the former President of India V.V. Giri
belonged.

26. Study the cartoon given below and answer the questions that follow : 1+1+2=4

EY
ToveLE

S,
TUAT'S A LIE. EVERYBODY —
KNOWS WE ALL WORKED
FOR TWO YEARS AND

BROVGHT (T DOWN / -

) Identify and name the leader who toppled the Janata Government.

(11) Identify and name the Prime Minister of the Janata Party

Government shown in the cartoon.

(iii) Highlight any two reasons for the defeat of the Janata Party in
1980.

12-59/2/1 19 P.T.O.
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qig:  FAEkiiad ye7 #9c GRETET il & o v G 26 & €

WE:

(26.1)

(26.2)
(26.3)

27. ()
(@)
28. (h)
(@)
29. ()
(@)

12-59/2/1

1977 @ W A H HIH U I R o Toheal g BRI Dl IR
HIRT |

1977 o W AT § TS 99 i areft Teiiaes 9rel 1 9W fofen |
1980 % TATEI § HIM U HI Sd F T8 ARG b TEHHAT T AH
fetfae |

Qs g

U T I Th THESTA! & TS SHH T fohea] AR hIhI
[EESEUEAIE I

HAAT
“orfiR 95 TSt ¥ T AEEql & e % ®9 W 96 W @ |7 %M

I AR 38UsT |

3 STYRT 1 =R HIfT [k 96 T 9Ra Tk Tsg JRea uiwg o
TR HEEIdT YTH Shi kT CTaT HdT & |

AT

YH Tsg HETEHT g 1992 H TIh Usg L& qiug § ur dH o g
Teflpd TEdE H gl o g Reprral i samen i |

TR e 4 oft ot Tl &1 foom e O aRa % "me TS
h{GTga! T IUM HIfT |

AT
2eETe TEEd ® aRdE 79 4 foe™ f I o I 9T "SR
U ST |

20

241+1=4



@ collegebatch con

Note: The following questions are for the Visually Impaired Candidates
only, in lieu of Q. No. 26 : 2+1+1=4

(26.1) Highlight any two reasons for the defeat of the Congress Party in
the general elections of 1977.

(26.2) Name the political party that won the general elections in 1977.

(26.3) Name the Prime Minister of India before the Congress Party won
the elections in 1980.

SECTION E

27. (a) Analyse any four factors that make the European Union an

influential regional organisation. 6
OR

(b) “ASEAN is rapidly growing into a very important regional

organisation.” Justify the statement. 6

28. (a) Explain the grounds on the basis of which India seeks to become a

permanent member of the UN Security Council. 6

OR

(b) Explain the three main complaints reflected in the resolution
adopted by the UN General Assembly in 1992 to reform the UN

Security Council. 6

29. (a) Describe the difficulties faced by India to get the merger of all the
Princely States into the Union of India. 6

OR

(b)  Describe the events that led to the accession of Hyderabad into the
Union of India. 6

12-59/2/1 21 P.T.O.
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30. (%) YT TSHITd § 1989 3R Iqeh &g Tl fohral IR G&I TSI T JUH

T | 6
YT
(@) 9Ra hi Afeehrer THifae arféal § 3wl 31 wgufd o fohegl o9 el
%1 o i | 6
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30. (a) Describe any four major developments in Indian politics

since 1989. 6

OR

(b) Describe any three issues on which a general consensus has

emerged among most of the political parties of India. 6
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